
Multiply by 10² (A)Find each product.
5.2 × 10² = 3.77 × 10² =
2.7 × 10² = 0.79 × 10² =
0.13 × 10² = 0.74 × 10² =
4.6 × 10² = 3.992 × 10² =
3.4804 × 10² = 0.4 × 10² =
3.18 × 10² = 8.6 × 10² =
7.077 × 10² = 7.735 × 10² =
1.166 × 10² = 9.851 × 10² =
5.3 × 10² = 1.5 × 10² =
2.3486 × 10² = 4.9 × 10² =
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Multiply by 10² (A) AnswersFind each product.
5.2 × 10² = 520 3.77 × 10² = 377
2.7 × 10² = 270 0.79 × 10² = 79
0.13 × 10² = 13 0.74 × 10² = 74
4.6 × 10² = 460 3.992 × 10² = 399.2
3.4804 × 10² = 348.04 0.4 × 10² = 40
3.18 × 10² = 318 8.6 × 10² = 860
7.077 × 10² = 707.7 7.735 × 10² = 773.5
1.166 × 10² = 116.6 9.851 × 10² = 985.1
5.3 × 10² = 530 1.5 × 10² = 150
2.3486 × 10² = 234.86 4.9 × 10² = 490
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